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* BXTHAREH R
(RE&DETFIIETE ITERT )

1(RELGHDOIMEEH)
2DDNEXEYDHYET YD
H A= EA33,FHIA185D
B XEYERDEELY,

2.(XERIHE)

(1) LD LIZOvF—EHAR
MNEHLETUKBHYET, &
ARVNDEIOR B, F
nNENFMTT M ?

B.(EDDHDIMEEH)

JvF—= ®, EANR= ®

ZONECMERFEREZZAT. IMNEMFI TIMETKRIDEZRD . TNoZEGEMNO5ILM-$%E 3TE-T

MMZEHLES,

(1) BEtH53THAHA=DDHA,B,
CHhAHYET  AlEBLYBKE
{.ClEB&Y11KEZL B, AB,
CIZENEFNLLDTTMI?

(2) BEAT4THH=DNDHAB,
CAHYET ,BIFCKY11/hE
{CIFALYSKEL, B, AB,C
FENZENLLKDOTEM?
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* BXTHAREH R
(RE&DETFIIETE ITERT )

1(RELGHDOIMEEH)
2DDNEXEYDHYET YD
H A= EA33,FHIA185D
B XEYERDEELY,

2.(XERIHE)

(1) LD LIZOvF—EHAR
MNEHLETUKBHYET, &
ARVNDEIOR B, F
nNENFMTT M ?

B.(EDDHDIMEEH)

/J\:( %D—% ) +2
Ke/N+E it (FI+E)+2

XIEM MO T (185-33)+2=76
YIZTK 1D T 76+33=109 =% (185+33)+2=109

X= 7 6 y Y=

I9Fx—MTINTGEDT (46-10)+2=18%K
BARWNITKIZGZDT 18+10=28% F1=(F (46+10)+2=28%%

py—= 18w A= 28 i

ZONECMERFEREZZAT. IMNEMFI TIMETKRIDEZRD . TNoZEGEMNO5ILM-$%E 3TE-T

MMZEHLES,

(1) BEtH53THAHA=DDHA,B,
CHhAHYET  AlEBLYBKE
{.ClEB&Y11KEZL B, AB,
CIZENEFNLLDTTMI?

() BEtHI74THSI=DDHAB,
CHBYET . BIXCKY11/hE
{CIFALYSK=LY, FF.AB,C
EEFNFNLLKDTIM?

ABCOEREEZEZSHELE. —FB/INSLDIE BlzEa 5,
ZFLTBUMNEC(R)DENEB(IMNEA(R)DEZ=DDEE
53M 5|V =ERYA—F /NS BEERIZHES,

&> TB=(53-(11+6))+3=12

C=B+11=23,A=B+6=18¢, 9 MYFET,

A= 18 , = 12, c= 23

ABCOBEBREEZDE, —B/INELDIE BizEah Db,
ZLTB(NEC(KR)DE11EB(NEA(R)DE11-5=65 =D D
BE74D 65N ERYN—F /NS BEREAR TGS,

#ZT. B=(74-(11+6))+3=19

C=B+11=30,A=B+6=25: MY ET,

A= 25 , B 19 , c= 30

(C)2019 SSHTI 5L 03 BfFHE #i(https://zky-art.com)



